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Note: you have féur choices for each objective type question as A, B, C and D. The choice -u‘/ J/D‘uul/
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,}J!y
(1) Two equal but unlike paralle! forces having _u_;&/l/:; ‘nﬁuﬁg f..sTJuKu’-//}ﬁﬁjuuw%,w (N
different line of action produce: ;
(A)ATorque ot  (B)Acouple B (C) Equilibrium ﬁ/df { (D) Neutral equilibrium Mﬁi 1%

(2) Law of gravitation is: - i Ku%)dgf ()
Gmm G Me Gmm mm

A) F=—=>2 B) F = Y By T o D,
W F == B F =" C) B == (0) F ==t

(3) One horse power is equal to: -c‘_/.l/.iz;gwyb{! (3)
(A) 748 W (B)y746 W (C) 740 W (D) 745 W

(4) The energy stored in coal is: | -‘L&jfa}o/é}gﬂ,i’:( (4)

(A) Heat energy $./le;  (B) Kinetic energy u’./‘iu@éﬁ (C) Chemical energy o’./'Ué‘f (D) Nuclear energy G

(5) The density of a substance can be found with the he?p of:: -c,&a b Jp“’c,ud/ &”;ﬂﬁ.u’( (5)
(A) Archimedes principle J#1< Ja</ 8 (B) Hooke's law 95
(C) Pascal's law uia&)@ | (D) Principle of floatation JrL L 7

(6) The coefficients of linear expansion and bl O g AR A R o W O/ET7 0T ()

volume expansion are related by equation:
(04

(A) B=—3— (B) B =2a (C) B =3 (D) o = 4P

(7) Which of the following affects evaporation? e t/}t»fﬁ/{.guz Lrufc,ui’uf (7)
(A) Temperature Z%} (B) Surface area of the liquid g;l(i/d/ él. (C)Wind fx (D) All these J‘frﬁ,

(8) In solids heat is transferred by: . - }’Ka/lidti‘!uﬁ(wui (8)
(A) Radiation SISk (B) Conduction ‘f( % (C) Convection u’[f (D) Absorption Sl

(9) Which one of the following is the smallest quantity? ?c‘:.d;{c,q/l@u’ufg,ui’d}g/p (9)
(A)0.01g (B)2mg (C) 100pg (D) 5000 ng

(10) Which of the following is a vector quantity? ?ct:,}..{;/uf"(fu:{;ufd sexr (10)
(A) Speed 4 (B) Distance 6 (C) Power s} (D) Displacement .»/’-"& 3

(11) Formula of acceleration is: -‘LU//GKWJ&"/VQ (11)

_V,—-V, _V/-—Vl =V,—V1 =X

#) a="— B) =" (€ a=—" 0) a=

(12) Which of the following is the unit of momentum? -g.&{(f?fc,uf‘fjg/p (12)
(A) Ns (B) Kgms™ (C) Nm (D) Ns™
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NOTE: Write same question number -acz;ui'z_/.ﬂrfié Z,/)//:]Al/‘d’rd?)/(éb/dlﬁ -2
and its part number on answer book, as given in the question paper.
. SECTION-l (il.»

2. Attempt any five parts. 10=2x5 ~Efe i lintie & 20
(i) Write any two main differences between mass and weight. Ju/uw,;;dfu* G Jl ()
(i} What is meant by prefixes? Give two examples. ~gi:u£V:; fes /L[c. /(’(64 (if)
(i) Differentiate between Atomic Physics and Plasma Physics. _“éugﬁﬁufﬂhjig/;tﬂ.f bt (iii)
(iv) Define friction and give its Sl unit. -40&;{ Si Ku‘luf“ébég /Uu;; (iv)

v)

(vi)

Define gravitational acceleration.
Write down its value on the surface of earth.
Define centripetal force. Write down its formula.

e e bbbt - & ASAF IS

R Y

V)

(vi)

(vii)  Write down the names of any two instruments for -ﬁ%b&o fits g;:LijLﬂJWl~&£J75,J Ju (vii)
measuring length.
(vii)  Define velocity and write down its SI unit. _46_»4 SI§ULAIgE Ly 551 (viii)

3. Attempt any five parts.

()
(ii)

10=2x5
Define Rigid Body and Moment Arm.
Why the height of vehicles is kept as’low as possible?

- fezlinie 8 -3y

-J/J/"L,(J Toyssl(§ 3 dos
"c.d(au{ U /qu@v, Sug¥

@i
(i)

(i)  Define Force of Gravitation and give two examples. -u‘)u‘} V:JJ,IJ/J/’JJ' d)/._: 7% (iii)
(iv) How can you say that gravitational force is afield force? ?%wugvg J»’J" d,_{/f ujé.,,f Z,)’u/ <! (iv)
(v)  What is meant by geostationary orbit? Ve s e //'"y’ {v)
(vi) Define Potential Energy and describe its two types -u/ut/(uuﬂuu,fa_»/&d A J"’ "y (vi)
(vii)  Differentiate between Mechanical Energy and Chemlcal Energy. J/ 5 1A /U{';»‘J /U{}K (vii)
(viii)y  Define Efficiency and write its equation in percentage. -u"LbL»Ju’lu"MAU/J /’d/ J‘; J’ b (viii)

4. Attempt any five parts.

" 10=2x5

-éxj.,w&/:ac.df 44w

(i) Define Density and write its S| unit. i _A Sl sl u"{.v/’u d") (i)
(ii) What is Hydrometer and write its uses. ..u:“”tUWILJu;Ia‘_l[/{u” (i)
(iii) Why is heat transferred from a hot body to cold body? “a&/f“:: u/ u"() @ﬁc'() rfw (iii)
(iv)  What is meant by clinical thermometer? Write its range. ,u:”g C/Jw fes /U/c,/' r/ (iv)
(v) Define the specific heat of a substance write its formula. w’%nudu(w el /Ja.,»ﬂ;uﬂ]gfa\f( (v)
(vi)  What causes a glider to remain in air? -Q)Z)t!.grl{q,/uilrﬁz ¥ (vi)
(vii)  Differentiate between Land and Sea Breezes. _Jf{}/’ddf-ﬁ:ldz(f (vii)
(vii)  Define Radiation. S S (wiii)

SECTION-Il /1.2

NOTE: Attempt any two questions. 18=9x2 -é’;:(fal,tzéamr»céf -
5.(A) State and explain Law of Conservation of Momentum. 1+3 _éyuwxg{uwiwﬁuféﬁ’fr (N5
JJ//L_)’J"{ 6 100 e (/L Lol K LIt 52 100 m&u”//f:pw, e Qe Iedeig il ()
(B) A train starts from rest. It moves through 1 km in 100 s with uniform acceleration. 5 ?Jnlﬁ,g
What will be its speed at the end of 100 s?
6.(A)  How will you determine Mass of the Earth? Explain. 3+1 -u“/..»u;(f.u/’aig/r}”ul.b/u“/ (-8
5yl sige S 50N e 16 om AEASALESLKS (L)
(B) The steering of a car has a radius 16¢cm. Find the torque produced by a couple of 50 N.
7.(A)  What is meant by Volume Thermal Expansion? 1+3 -q/jéiovaJl ?c‘-.;l/t[ci&{ [};Vuﬁp!b (N7

Derive its equation.

5 ek LU 2.56gem™ $HEEE e JedU ) ELul e 3069V L EEL L 2 EEE (L)

A cube of glass of 5¢cm side and mass 306g, has a cavity inside it. If the density of glass is 2.5590m'3.

Find the volume of the cavity.
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Note: you hav;e four choices for each objective type question as A, B, C and D. The choice -Q/'::J’f;;c«wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit wili be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The work done in lifting a brick of mass 2 Kg SR oL 5k Bm el 2
through a height of 5m above ground will be:
(A)2.5J (B)10J (C)50J (D) 1004
(2) What should be the approximate length of ?4,g&nﬂzuréy@wgéi&/’%KJg 2)
a glass tube to construct a water barometer?
(A) 0.5m (B) 1 m (C) 2.5m (D)1 m
(3) Water freezes at: -.f_l:tmdg/@;}u’-&g 3)
(A) 0°F (BY 32°F (C)-273K D) 0K
(4) Which of the following materials has large spedificheat? ‘e Sobardeimipd pgf 4)
(A) Water 3y (B) Ice i (C) Copper /¢ (D) Mercury /7
(5) Ingases, heat is mainly transferred by: -:g.g?oﬂ/&tﬁ"z‘!}ug)uf/bf | (5)
(A) Molecuar collision 36%4£L  (B) Conduction *%" (C) Convection 55" (D) Radiation =I5/
(6) Which one of the following is the smallest quantity? ?‘aé;@’cqﬂ&dufcuf it (6)
(A) 0.01g (B) 2mg (C) 100{ig (D) 50001g
(7) Ameasuring cylinder is used to measure: -‘Ltw/(ﬁ”c_/ih?/g (7
(A) Mass Ut (B) Area |/ (C) Volume ¢«ls (D) Level of a liquid J#§Ci”
(8) Atrain is moving at a speed of 36 K’ bt ms™ e el e 36 Kot Sl @®
Its speed expressed in ms™! is:
(A) 10ms™ (B) 20ms™ (C) 25ms™! (D) 30ms™
(9) Which of the following is the unit of momentum? -‘a&gKf%ufJ}g/ﬂ 9
(A) Nm (B) Kgms™ (C) Ns (D) Ns™!
(10) Aforce of 10N is making an angle SroadFU A e Bl 30" AL - X i 10 (10)
of 30° with horizontal. Its horizontal component will be:
(A) 4N (B) 5N C) 7N (D) 87N
(11) The orbital speed of a low orbit satellite is: ,f.@n,Q;JL/Zﬁf &’Wiqﬂéjﬁ (11)
(A) Zero p# (B) 8ms™! (C) 8000ms™ (D) 800ms™
(12) The altitude of geostationary orbits in ,‘Lgm;uﬁjé/dﬂgfu{ -ugL/J;/@ M“gf‘-‘g;fui’w:fﬂd S (12)

which communication satellites are launched above the surface of the earth is:

(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km
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NOTE: Write same question number _c._Z//)u" z_./Jirfi'i CJJ/"(;]M/‘UVU";/QKG' T
and its part number on answer book, as given in the question paper.

SECTION- sl»

2. Attempt any five parts. 10=2x5 -E i linble 3 240
(i) Calculate how many seconds are there in one day? W*L/w@fu‘ ol (i)
(i) Write two important parts of Vernier Callipers. 4}1”?'&:()#’7{' I33d_5 & s (i)
iii) Why is the use of zero error necessary in a measuring instruments? ?{_dﬂ/‘u{ dwm{u{m@uﬁ [ iii)
(iv)  How can vector quantities be represented graphically? %.Hgk:ﬁ;(ﬁdj u‘fslngu;/t@% (iv)
(v) Differentiate between rest and motion. | ‘“é ugJ}uﬁJf»‘&{/ )
(vi) Define uniform acceleration. _gf: i /’Jﬁ/’gpu‘{g (vi)
(vii)  State the Law Of Conservation Of Momentum. ~ZE I ISP f"“wr (viiy
{viii}  Define force and write its unit. 4{/)’&}&;!5...&1/7&)9;’ (viii)
3. Attempt any five parts. 10=2x5 -fouwivlétc,df -3 40
() Why the height of vehicles is kept as low as possible? °¢d(au{ ur( {JMJC' dl{:!p(u/% (i
(i)  Define resultant vector. J I /J/?;Ju (ii)
(iil) Explain, what is meant by gravitational field strength? sl /LQ;J&L,QUJ’”‘ 6;’/ (iii)
(iv)  Whatis meant by global positioning system? S ~I/U/¢f/ <Y 5 j.\J;b/ (iv)
(v) With what force an apple weighing 1N attract the earth? “c_Lffc;w;’J’;( “J -« 1IN uﬂﬁf JJ (v)
(vi)  Define Joule. JIBA5r i)
(vii)  What is mechanical energy and give one example! oLy Sy 56 /U""g (vii)
(vili)  How can you find the efficiency of a system? ?wéfrﬁ”é/gifd’;lgf(’/uf (viii)
4. Attempt any five parts. 10=2x5 -gi;/’@gtxét‘zrégc_éf ..4/-,"Ulr
() Why does a piece of stone sink in water but furd Ltz duesradE et A E ()
a ship with a huge weight floats?
(i)  What is a barometer? S byl Xy (ii)
(i)  Define Elasticity. IS G
(iv)  Differentiate between Temperature and Heat. -éful/J/u”u/w:lf / (iv)
(v) What is meant by internal energy of a body? S /l/c,d /U}IJK o) (v)
(vi)  Why does transfer of heat in fluids take place by convection? “Ld 154 Jf u/c:_u“(fu/i}db/tu“ (/UL« (vi)
(viiy  Differentiate between Land breeze and Sea breeze. & ug.u/ufd/»(jﬂd/.(f (vit)
(vii)  Define thermal conductivity. ~EI G i)

SECTION-II (1.

NOTE: Attempt any two questions. 18=9 x 2 ~E el e e 3 s
5.(A) State Newton's second law of motion and 1+3 ,g{ﬁic,ouuwg{.gﬁJ wuiw/,%is (.5

derive its equation. :
(B) A cyclist completes 5 e Gt ,‘a/‘}“u:w 1.5 s TE 5L AL 318 s SELdl (L)
half round of a circular track of radius 318m in 1.5 minutes. Find its speed and velocity
6.(A)  Explain 1st and 2nd condition of equilibrium. 2+2 M/wu,&/d/wéﬂ(/dﬁ (-6
5 Pl AL ¢ 4000N LS I e et bt 2 ams! 2otk (L)

B) A motor boat moves at a steady speed of 4ms™!. Water resistance acting on it is 4000N.

Calculate the power of its engine.
7.(A)  What is evaporation? 1+3 o b it by Se YRy (-7
Explain the factors which affect the evaporation.
5 U HEHUT - 0.42N UL Be 0.48N Wik E Jltin (L)
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